44)

46)

48)

50)

52)

WINDOL
Bmin=-9
Bmax=9
Aecl=1
Ymin=-4
Ymax=44
Yscl=1
nres=1

WIMDOL
wmin=-18
mmax=18
Recl=3
Ymin=-12
Ymax=12
Yacl=3
nres=1

WIMDOW
wmin=-9.42
nmax=9.
Kscl=1.847
Ymin=-4
Ymax=4
Yscl=1
wres=1

4777 ...
42477 79..
1973...
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WIHDOL
Amin=-36
Amax=36
nscl=4
Ymin=-16
Ymax=16&
Yscl=4
sq)_Ares=1

WINDOW
Bmin=-9.424

#scl=1.8471
Ymin=-5
Ymax=4
Yscl=1

56) nres=1

Trr...
mmax=9.4247779...
Q75

WIMDOW

Ymin=8
Ymax=8
Yecl=1

#min=-9.4247°7°7 ..
Kmax=9,4247779..
#scl=1.8471973..

58) Bres=1

WIHDOL
mmin=-9.

#ecl=1.0
Ymin=-4
Ymax=4
Yscl=1

424777 ...
Kmax=9.4247779..
471973..

60) wres=1

é?) y(@’ _?)Kr)%/:'(/"z

70) Ye) = 2cos(x) -

‘%9 F6o)= - coslx) -3

)
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